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I maws paw:
A. .n% 100 "ann- if a person can’t say 9771 himself and he has an 72y, JuP or woman saying it

on his behalf, he should repeat everything after them. But if a 7173 says %277 on his behalf,
he just has to say "p179:1".

1.

It would seem from here that a woman is not obligated in 9771 and therefore, a person
cannot be R¥1 with the recitation of 5277 through 711w ¥ymw b/c the .3 577 ~inn
requires that you need have who’s a 71272 211 for 71w ¥ to work.!
The o°11wX" discuss whether this is a Xn*9R7 1°7 or a 11277 1°7...
a) The (7”17 °972) .2° M>72 »"AYa seems to say that the fact that a person needs to be
a 71272 2°1» in order for AW YW to work is a 13277 7°7.
b) But the ((77°72°972) .2° M1972 "7 NARYA) 17217 says that this is not a 13277 17 and is
a RNPMRT PT.
(1) It’s clear from the mwn that woman are m"wd from 5977
(2) We know that this is true, but we have to figure out why this is true. In order
to do that, we first must figure out why we say %217 in the first place...

II. o110 - B9 bw 2omnn:?
A. -0 7Y 'ma- a1 says that there are 18 days that we say 02w %% in & and 21 days

when we say in 77114 There are 2 reasons to say 2277

1.

B.

We say %277 on v b/c vy itself is 211 us to recite 977. Therefore, we should say
%91 on 1177 and 21, but we don’t b/c they are days of 719 and 7.

We also say 2771 on 112111, which is not a v"1°. We say %71 on 7121117 b/c of a 81 and so,
we should have said 9271 on 219, but we don’t b/c we have the 72737 nR™Mp in its
place.

a) Q: Why is 0"y a 2°nn of 99n?

b) A:2 Answers:
(1) The 1:3 7910 '3 07an7 says that 9277 on 7017 is 13277 and so is every other 7911

of vy - 9911 is a 1312717 n¥n.
(2) The 2 waw 17072 NMaws 17an7 writes that 927 on v is not 11277, it’s 1°7

XN»X7, which is part of the mxn of "7am2 nrawn”. We see this from the '3
N POAY...

R 1927 'm3- we know that the n129p require 2197 W b/c the P1od says, X7 WK nan”

229 22 AW PPYR 17 NR NTAY - we express our grandiose joy of doing mxn is through
7w,

1 We try not to be mxn xx1> through 719> ymw, however, there are certain scenarios where we have no

choice.

2 See (112 N°WRI 190 7102 R2IN) [D-T9 'AY [AWT 1°WE DIR.

31 day of noo, 1 day of myaw, 8 days of M210 and 8 days of mm.

4 They added a day for each of the o°%31 wHw.
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C.

D.

1.
2.

We see from here that 77°® is an expression of mnw.

The 17217 says that just as the mM137p require An»w, which is expressed through 77w,

since v"1 also requires 7AW, it must be expressed through 77°w as well.

a) The 77an7 assumes that v nrPY is expressed through 777w,

b) But the 17217 makes a big assumption b/c there is a 2°17wX '1n regarding what
0" DANY 18...

0P 0’1o 'M3- at the time of the wpn, there is only v nnnw through 25w w31 n?°5X and
AT T3, 7S 13 ROR ANRY PR,

1.

Wy 77 27 A '0I1N says that 717 17412 07 DARY is only 1127771 b/c RNPMIRTA VY NAAY 1S

only N1127p w2 NOK.

However, the 1°:1 0" *51 07an1 writes that even though real 7mnw is 2'n%w w2 NOK,

included in that annw is Mnnw X, like being nmwn a person’s family, which is also

RNMMIRTN A0,

a) According to the 772n7, Xn™7X77 you have to sing 77°w on v"7. This is only in
line with the 0"an7’s 7w that 77°w could be included in v AW b/c v NAAY is
more than just 25w w2 n?°2X. However, the 7727 cannot hold like "0, b/c
according to '01n, all that 7nnw is RN™MIRTA is DMWY W2 NPX.

b) The bo 'O R"ARW says that if the 17227 is correct that 5277 is part of V1> nnnw, then
in order to figure out who is 211 in %71, we have to figure out who is 21 in N
0.

(1) It would seem that women are not obligated in vy nnW b/c it’s a WY MXN
N2 JATAw.
(2) However, there is a ?109 that tells us that women are obligated in v nnnw.

:1 7" 'm3- according to one opinion, the 105 tells us that women are obligated in nrnw
v"7, but according to the another opinion, they are Mo and the 102 is coming to tell
the man to make sure that his family is happy.

1.

Q: The R"aRw asks, if women are obligated in v nnnw, then they should be obligated
in 9977, which is against the .02 7210 ~ann, which says that a woman can’t be X% a
man in 977! If women are obligated in v”1 nnnw and 917 is a part of v nrAW
according to the 772m7, then why can’t a woman be X°X¥% a man in 57:3?

A: The 7:3 0" y”ay° niwn says that women are not mMwd from %771 on vy The "inn
.12 71910 just says that women cannot be X°¥1 men in 771 and the 5971 that it’s talking
about is the %277 on M10. It could be that a woman can’t be X°¥1 a man in the 9777 of
Moo, but they could be X°%1 a man in the 9771 of other v"1>’s. There is another 2>°1n of
991, which just applies to m210, which is the reason women can’t be X°¥1 men in 277
of M70 even though they are obligated in 577 in general. ..

IT1. mysn Bw 557 - nwa Ho5:

;1% 0°nod 'mi- how do we know that we say 7771 when bringing the *1w non? We say %21
when bringing the *1w 105 b/c it can’t be that a Jew will be vmw his 105 127 and take his
279 without saying 9211

A.

1.

The 'm3 here is saying that there is another 2nn of %7 - this 2mn is mxn. We don’t
say 2211 every time we do a m¥n, but there are certain n1¥» that are more related to 927
than others.
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2. The 'm3 here also talks about 2912 n?°v1, which tells us that the mx»n of 2777 n>u1is

991 2»mn. So, the 9977 that we do on the first day of m210 is a %277 of "1 and a Hw 925

mxn of 2717 no 1.

a) The y”ay> n1wn says that when a woman says 7271 on oo, M¥aw or NIXY *1nWw, she
might be obligated in %71 b/c it’s a 9771 of v nnnw and they might be obligated in
vy ninw. In such a case, a woman would be obligated in 9977 just like a man.

b) But when it comes to 9277 on M0, it’s not just a 9771 of v"* NnPW, but also a %217 of
299 n?°v1, which women are mMwd from. Therefore, the y”ay> nawn says that
when the .0% 7910 1nn says that women can’t be X*¥7 men in 997, it’s talking
about 9777 of M0 b/c it’s also a 9277 of 2779 n%°v1, which they are M7W> from,
however, they would be able to be X°¥% a man in another 9977 that does not have

this added dimension.>

IV. nep H¥ha Yo
A. .9 100 "inn- if a person can’t say 9771 himself and he has an 72y, Jup or woman saying it

on his behalf, he should repeat everything after them. But if a 9173 says %277 on his behalf,

he just has to say "1,
1. 20w °n 577010 says that women are MMwd from 2777 on M0 b/c it’s a JarIw Iwy mxn

N2,

2. But'Din says that woman are obligated in %71 on 103 night b/c they are obligated in "7
mo1d and one of the 0»arn of Mo "7 is 721.
a) It could be that women are obligated in NM1013 '7 even though they are not

obligated in 5%.
b) The v:1 a"1 20 17273 says that there are 2 ways to understand the 7%°%71 n¥n on

nod and their relationship to the mo1> '7:
(1) It could be that the 79>y is the M2°72w NM¥» and we just make you drink "7

Mo in order to give more M2wn to those Nxn.

(2) Or it could be that the mo1> "7 are independently important on 1109 night and
we link the 1272w mx» to the M0 b/c we are drinking anyway.

(a) What 'oin says only make sense if you hold that the %71 21°1 is what is the
9y and the N101> "7 are secondary. If that’s the case, then the fact that
women are obligated in N1012 '7 is b/c they are obligated in the n1¥n
M2°72W, like 9911.

(b) But if the drinking the mo1> "7 is the 7p°v, then the fact that women are
obligated in M01> '7 doesn’t tell us anything about their 21°1 in %7.

3. 'own says that the 5977 of moo night is different than other types of %11 b/c it’s a %y %1
0177 and D77 1NIR 1777 377 AX.
a) ‘01 assumes that the 5277 on the night of oo is a 017 %Y 521
b) However, the *nX¥» T 7377 .1°p 0°101 17217 says that the 977 on 1o 2% is a Yw 977

mxn.

5 It would come out according to this that if a person didn’t have a 2717 in the morning and said 9777 and
then got a 2717 later on, then he should recite %97 again.

3
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(1) A "1 whether this 5277 is a 0371 29 997 or a m¥n >w 9971 is whether we make a

7272 on it or not...

(a) Some o'W say that you should make a 7572 on this 7917.

(b) But the (7717 *973) 115 010D 1”7 quotes X3 R 21 who says that it’s not a
7R™MP YW 997 but rather a 77w W 977 and therefore, we don’t make a 17072
on it.

i) (On7P0 10 PwR) 0773 explained that 1IRA °Xi7 21 meant that 9°%2 591
7707 is 0371 %Y 99, which is supposed to be spontaneous. Therefore, to
say a 11972 will detract from the spontaneity and so when it comes to
the 17071 2°9, it would be inappropriate to make a 17572.67

ii) This idea is only true according to '0In that the %77 on 1od night is 977
017 nYw2.

(2) It comes out from '01n that women should be obligated in the %77 of 721, but

we don’t assume that way 70975.

(a) We would think that women should be obligated in %%:1 on 7191 like they
are obligated in 7121117 N7 b/c of 0177 1M 1°77 17 AN,

(b) But the 75p '0 "X "N N says that we only say 0177 10X 1°7 17 AR by
7900 M3, A2°an NRIP and Mo 17 b/c those are Mxn where we publicize
a 01. Therefore, one could argue that even though %%71 on 713117 is 0171 %3,
it’s not a 107" and therefore, women aren’t obligated in it.

1) There are 2 problems with with say this:

(1) (¥'omawn 2w a 190) N says that women are obligated in NTwo
naw b/c of 017 1M 1°77 177 AR and that’s not a 210D,
(2) The .7> mo72 'n3 refers to 71 on 712110 as K01 MI07D.

ii) So it seems difficult why women are not obligated in 527 on 731 if

they are obligated in 71311 M71 and 9977 on 109 night.

6 The (X:12 798w pnyn) 2781 says that this is X087 997, That is why the 770 gave us the 9°w° 18 nwA, in
order to show us that there is a 017 nywa %71 211, The %217 on the 270 »°% is 0371 NYW1 5971 b/c we say 21
MYy NR MKXT? 278 and then say 0°2°°1 MK 75°9% - the idea is the same, we have to see ourselves as being
0371 n¥w2 and then b/c of that, have a 7w Hw %51 2.

7 See 192-192 ,79p AV [P0*12] M2 N°2n [od W g7,




